QUICK COVER Expanding and Simplifying 2

Task 1 : Expand a single bracket : 4(3x+5) 5(2x—1)
Task 2 : Expand a single bracket and collect like terms : 4(2x— 1) + 3x - 2
Task 3 : Expand a single bracket : -4(2x +1) -3(4x +5)

Task 4 : Expand a single bracket and collect like terms : 10x + 4 - 4(2x — 1)

Puzzle : Mixture Tasks 2 to 4
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Help and hints.... Expanding and Simplifying 2

TASI( 1 Expand TASI( Z Expand and simplify T ASI (S 3
Expand
Example Example Example ’
5(3x - 2) 32x - 1) + 2% - 3
4(3x - 2)
=5x3x =X -3+ 2x-3 .‘D
= = -4 x 3x +
= [Bx - 10 =8x - G = 42x + 8

Expand the
bracket first

TAS l( 4 Expand and simplify

Example
You can use a grid to expard the brackets 2% + 4 - 3(2x + I)
=2x + 4 - &x - 3

-5(3x - 4)
X | 3x | 4
-5 | -bx | +20| = -Ibx + 20

- ox+
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Expanding and Simplifying 2

TASK 1 TASK 2 TASK 3 TASK 4
1. 8(5x-7) 1. 4(6x-5)+3x-3 1. -8(4x +5) 1. 9x+5-3(3x-2)
2. 7(2x+ 3) 2. 6(5x-11)+6x-2 2. -3(9x-5) 2. 8x+2-5(4x+1)
3. 8(7x-4) 3. 7(8x-7)+6x-2 3. -2(9x-2) 3. 11x+2-3(4x-5)
4. 4(7x-2) 4. 4(7x-11) +6x+ 1 4. -2(7x-3) 4. 16x+2-5(4x+7)
5. 2(8x+7) 5. 3(2x-11) +3x-4 5. -6(6x - 5) 5. 12x+4-2(4x+1)
6. 7(8x +7) 6. 6(7x+3)+2x-5 6. -2(3x+11) 6. 12x+5-5(3x - 4)
7. 7(2x-1) 7. 4(7x-2)+4x-1 7. -8(3x-11) 7. 16x+2-4(3x-5)
8. 4(7x-4) 8. 7(6x-11)+2x+6 8. -6(9x +2) 8. 12x+3-5(2x+7)
9. 4(4x +7) 9. 6(4x+11)+3x+1 9. -4(4x +11) 9. 14x+2-4(2x-3)
10. 8(9x-5) 10. 7(9x+10) +4x-4 10. -8(3x +2) 10. 18x+5-5(3x-5)
11. 10(7x-6) 11. 6(5x+4)+5x+6 11. -6(7x+1) 11. 9x+3-5(4x+1)
12. 6(4x +11) 12. 3(9x+10)+6x+5 12. -6(9x +4) 12. 11x+3-2(4x-5)
13. 2(9x +11) 13. 3(8x+1)+2x-4 13. -6(3x-4) 13. 14x+2-5(4x-1)
14. 7(4x +11) 14. 4(6x-5)+2x-4 14. -5(5x - 2) 14. 14x+2-5(3x-5)
15. 8(4x+7) 15. 3(2x-1)+4x+1 15. -5(2x +5) 15. 19%x + 2 -4(4x-5)
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Expanding and Simplifying 2

ANSWERS

TASK 1 TASK 2 TASK 3 TASK 4
1. 1. 1.
2. 2. 2.
3 3. 3.
4. 4. 4.
5. 5. 5.
6. 6. 6.
7. 7. 7.
8. 8. 8.
9. 9. 9.
10. 10. 10.
11. 11. 11.
12. 12. 12.
13. 13. 13.
14. 14. 14.
15. 15. 15.
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-5(3x + 4)
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